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Emerge as a leading institute for developing competent and creative professional.

Name of the activity:- MANTHAN-2021
Date& Time of activity:- 13/07/2021 to 17/07/2021
Mode of activity:- Online

S. B. Jain Institute of Technology Management and Research organized a colorful,
memorable and a mega event “MANTHAN 2021-An overall personality development
programme imparting transferable and life skills” through online mode. The
programme commenced with Eligibility Test (Quiz- Aptitude, Reasoning & verbal
ability) followed by Personal Interview. There was overwhelming response among
students; total 286 students appeared for Quiz & Personal Interview out of which 118
students shortlisted. The shortlisted students were categorized into three group’s: Clelsea,
Baecelona & Manchester United.

The activity started with motivating sessions delivered by soft-skill trainers from
“Rubicon Pvt. Ltd.”, Pune and the enthusiasm of the event amongst students reached its
zenith during this session.
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For motivation, encouragement and preparing students for their future goals,
various activities were conducted such as Expectation Setting, Ice — Breaking, Public
Speaking, Resume writing etc. They learned strategies of goal setting, self-control,
planning, execution/action, distracter overcoming from these activities.
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The day ended with a session on Vedic mathematics by Mr. Manmath
Deshpande. With his deep knowledge & basic techniques, students learned how to
perform complex mathematical calculations in an easier way.
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